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Question No. 1

Simplify: (176 + /2401
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18 15

Answer Key : D Your Response : B (Wrong)

Question No. 2

Which of the following can cause damage to buildings?
A) Infrasound B) Sound at about 10kHz

C) Shock waves produced by supersonic D) Subsonic sound
aircraft

frafaf@a & & i a1 ARG F FHET TG Fha 87

A) 379%cg eafar B) T 10kHz drell €afey
C) gwdliaeh faA @ IcUeel ITETT I D) Teaifas eafa
Answer Key : C Your Response : A (Wrong)

Question No. 3

The disease caused by deficiency of protein in children is called-
A) Pellagra B) Beri-Beri

C) Kwashiorkor D) Rickets

Tat F NET fr FAT A @ arelr AN A FAT Fgr 1T &7

A) YT B) s{I-adr
C) FaTfAARE D) Rerca
Answer Key : C Your Response : A (Wrong)

Question No. 4

Which word will best complete the relationship given below?
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Volume : Litre :: Length : ?
A) Hectare B) Kilogram

C) Metre D) Watt

FleT AT eq S AT T Heer it wafeasr o1 @ qob Hm?

A : el oS L ?

A) gFCIX B) foraitamer
C) #HIex D) are
Answer Key : C Your Response : C (Correct)

Question No. 5

If8#2 @5=21and 4#6 @ 2 = 26, then what willbe 3 # 7 @ 9?
A) 40 B) 47

C) 52 D) 30

I8 H#2@5=213R4#6@2=26% A3 #7 @9 T aWI?

A) 40 B) 47
C) 52 D) 30
Answer Key : D Your Response : D (Correct)

Question No. 6

The total of ages of X, Y and Z is 27. X is 2 years older than Y and Y is twice as old as Z. What
is the age of Y?

A) 5 B) 8
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XYIRzZAgarAr27g X, YE2aaerg AR Y f 3mg, Z & AR 51 Y Hr 3y
AT FfST|

A) 5 B) 8
C) 12 D) 10
Answer Key : D Your Response : B (Wrong)

Question No. 7

is the physical quantity of the substance which is numerically equal to the resistance of a
rod of that substance which is 1 m long and 1 sq m in cross-section.

A) Charge B) Conductance

C) Resistivity D) Resistance

i fr Hifds T & S TEucHe §9 @ 3 o ¥ s 1 #Hiew & 3R 1 T Aex
ITEY FIC T T B3 & GfeY & T gl g

A) 3magr B) dTelehdr
C) wfaRrershar D) wfaxrer
Answer Key : C Your Response : C (Correct)

Question No. 8

If tan 2A = cot(A-18°) and 2A is an acute angle, then find 'A'.
A) 24° B) 36°

C) 28° D) 18°

IfE tan 2A = cot (A-18 °) ¥ 3R 2A U =g FUT §, A 'A' & A G HfSC

A) 24° B) 36°
C) 28° D) 18°
Answer Key : B Your Response : B (Correct)

Question No. 9
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Choose the figure that best represents the relationship among the
classes given below.
Pharmacists, Professionals, Architects, Carpenters

A) B)

0 D)

000
Y

3H NPT & I8 #, A AEAEa Ao & d % FgEw @
Hafead &1 ¥ fOFa L 8l
FATYES, 99ET, e, a5

A) B)

0 D)

X X
@O

Answer Key : C Your Response : D (Wrong)

Question No. 10

If the perimeter of a triangle is 28 cm and its inradius is 3.5 cm, what is its area?

SSC Adda247 Engineers Adda247
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C) 49 cm? D) 28 cm?

Ife el st &1 AT 28 QT &1 sHHT =:Fsr 3.5 AN §1 sHH SABa AT AT

A) 35 @#r? B) 42 a#r?
C) 49 a#r? D) 28 @2
Answer Key : C Your Response : A (Wrong)

Question No. 11

Find the missing number in the following series.

110, 99, 86, (...), 54, 35

A) 67 B) 81
C) 71 D) 75
fAfaf@a Aol # goa dear A fifEw|

110, 99, 86, (..), 54, 35

A) 67 B) 81
C) 71 D) 75
Answer Key : C Your Response : C (Correct)

Question No. 12

What is the resultant resistance if 2 Q resistors are connected in parallel?
A) 05Q B) 1Q

C) 30 D) 20

2 0 & iR A FATR HA # 3 §U &, ar IRomr gfody = gem?
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C) 3Q D) 2 Q

Answer Key : B Your Response : B (Correct)

Question No. 13

Perimeter of an isosceles triangle is 32 cm. The base is 6/5 times the equal side. What is the

area?
A) 39 cm? B) 57 cm?
C) 48 cm? D) 64 cm?

UF FAGHETg e 1 IReAT 32 Flr §1 SHAT IUR, WA ST F 6/5 AT §1 &AA A
ffaTl

A) 39 T2 B) 57 &2
C) 48 @#I? D) 64 @#r
Answer Key : C Your Response : C (Correct)

Question No. 14

What is the nature of bleaching powder?

A) Reducing agent B) Blistering agent
C) Sulphonating agent D) Oxidising agent
SRR IEsT A g F=T §?
A) qarad AfFeASR B) Wil 3iffeae (Blistering agent)
C) Hewlaifcar fFhas D) 3fodR® 3TAHAD
Answer Key : D Your Response : A (Wrong)

Question No. 15

Which word will best complete the relationship given below?

Charminar : India :: Pyramid : ?

A) Vatican B) Egypt
SSC Adda247 Engineers Adda247
C) Canada D) England
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FleT AT eq; Y AT T FHeer it wafeasr o1 @ qob Hm?

IRHANGR ; $Rd = RAufAs : 2

A) afeswha B) fAa
C) arsT D) g9l
Answer Key : B Your Response : B (Correct)

Question No. 16

Which of the following Ministries won the platinum of Web Ratna Award in Digital India Awards
20187

A) Ministry of Youth Affairs and Sports B) Ministry of Corporate Affairs

C) Ministry of Communications and D) Ministry of Micro, Small and Medium
Information Technology Enterprises

ffaf@a & & Fa Fdaew o Bfoea s 3aEw 2018 & 39 &7 3@ & wiftaw Raw
Shar?

A) Tol Uq gaT HATeld B) @ARC AT HI HAATAT
C) HUR Ud T SleIfarehr Hterd D) g&H, oY Ud HEIH 3¢TH HATL
Answer Key : D Your Response : Not Answered

Question No. 17

From a point 'P', Rohit walks for 5 km towards east direction. He then turns right and walks for 2
km. Again he turns right and walks for 3 km; He then again turns right and walks for 2 km to
reach a point 'Q". What is the distance between the points 'P' and 'Q"?

A) 3 km B) 4km

C) 1km D) 2 km

e v g 'P' @ qa farm #r 3K 5 el =ercr &1 a8 T QW Fzar & 3R 2 fFer Torar g
R § a8 a8 3R Far § 3 3 el Ioar B, 97 AR & o 3R gg 2 el goar § 3R
v g 'Q' W agaar §1 g P 3R 'Q' & o A glr el 72
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C) 1 fel D) 2 fafr

Answer Key : D Your Response : D (Correct)

Question No. 18

P and Q enter into a partnership with investments of Rs.1400 and Rs.1800 respectively. They
share half of the profit equally for running the business and the remaining profit in the ratio of
their investments. If the difference in their shares of profits is Rs.47, what is the total profit?

A) Rs.954 B) Rs.504

C) Rs.804 D) Rs.752

P 3k Q HaAT: %.1400 31X %.1800 F A & WY UH HEGHY 7 Yar HQ &1 &7 & 3
R F sHeE F Fues & AT @ § 3 A BEY A 3w @Adw F weqara 7 §ie o §
I a7 # 39% /XAt A1 IR .47 8, AN FoI o167 AT RS

A) %.954 B) %.504
C) %.804 D) %.752
Answer Key : D Your Response : Not Answered

Question No. 19

Simplify: tan (60° - 6) - cot (30° + 8)

A) B)

J3+

&l -
&

O] D)
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T FI: tan (60° - 6) - cot (30° + 6)

A) B)
f 1 2+./3
ot+t—
Nz 5
0 D)
0 2+/3
Answer Key : C Your Response : C (Correct)

Question No. 20

Which of the following is a saturated hydrocarbon?

A) Methane B) Propylene
C) Butadiene D) Acetylene
Prafafda & & # &1 Tgod e &7
A) o B) wueliet
C) sgcIsts=t D) tfafeele
Answer Key : A Your Response : A (Correct)

Question No. 21

Find the ODD one out from the given options.

A) Odissi B) Bharatanatyam
Cg Lavani D) Kuchipudi )
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T v fedt & ¥ 3rarT @ oAl

A) 3fsEr B) RdAcIH
C) wraufr D) sfagst
9 9
Answer Key : C Your Response : C (Correct)

Question No. 22

The main function of vitamin K is in-

A) Skin health B) Blood clotting

C) Immune system D) Calcium absorption

farfie K =1 787 & ¥ Heft @ &l

A) cIdl Hl TGEY TG B) T & StHA

C) gfavearr gorrelr D) Shforrs 3raeiyor
Answer Key : B Your Response : B (Correct)

Question No. 23

If 2508 + 12.54 + (X x 11) = 200, then find the value of 'X".
A) 2.5 B) 3.5

C) 4 D) 0

Ifg 2508 + 12.54 +(X x 11) = 200 &, & X' & A 7 Do

A) 25 B) 3.5
C) 4 D) O
Answer Key : D Your Response : D (Correct)

Question No. 24

A man walks from P to Q at the rate of 5 km/h and returns from Q to P at 3 km/h. What is his
average speed for the whole journey?

A) 3.25 km/h B) 3.75 km/h

SSC Addaz47 Engineers Adda247
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HE Y P & Q dF 5 freliyeer it arer § T ST § AR Q ¥ P aF 3 frefvder fr e &
q9H AT g1 T AEr F AR 3wh e T R g

A) 3.25 fRaAl/Eer B) 3.75 fral/ger
C) 3.5 fraiger D) 8 ferail/eer
Answer Key : B Your Response : B (Correct)

Question No. 25

Which number will best complete the relationship given below?

6:36::8:7?
A) 47 B) 46
C) 48 D) 49

6:3 :8:7
A) 47 B) 46
C) 48 D) 49
Answer Key : C Your Response : C (Correct)

Question No. 26

Find the wrong number in the following series.

9, 15, 24, 34, 51, 69

A) 51 B) 34

§4cAhddaza7 D) 15 Engineers Adda247
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fAeafaf@a Aol & srra d@ear @ g+

9, 15, 24, 34, 51, 69

A) 51 B) 34
C) 24 D) 15
Answer Key : B Your Response : B (Correct)

Question No. 27

Which constellation has other names as The big dipper, Great bear and Saptarishi?
A) Orion B) Scorpio

C) Ursa Major D) Ursa minor

FH dRAST & 3T aF 9T Bw, I AR 3R goa® &2

A) R B) giTe
C) Teaf¥Hze D) k&t
Answer Key : C Your Response : C (Correct)

Question No. 28

is the matter or substance through which sound is transmitted.

A) Interface B) Medium

C) Environment D) Surrounding

9% 59 U1 9oy §, o A ¥ eafey sl e #

A) FIHH B) HATEIH
C) drdraxor D) gRawr
Answer Key : B Your Response : B (Correct)

Question No. 29

éféMlﬁ%%‘ &spoded as 9765412 and 'NAKED' is coded as 84123, how&'m;qg\%'gﬁmz7
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A) 89786145 B) 78579452

C) 79438163 D) 78698365

I 'MISTAKE' & 9765412 & 7 # for@r amar € 3 'NAKED' & 84123 & &7 & for@r Siar
g, @ INTIMATE' I 59 YR fo@r sem?

A) 89786145 B) 78579452
C) 79438163 D) 78698365
Answer Key : B Your Response : B (Correct)

Question No. 30

If 410 = 3.16, then find the value of 30
\‘ 9

A) B)

3/16 1/8

0 D)

1/4 1/16

uﬁm:m,m\@ S ——

A) B)
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3/16 1/8

O] D)

1/4 1/16

Answer Key : This Question is dropped and
Your Response : Not Answered

will not be consider during the evaluation

Question No. 31

In which of the following Indian states is Dal Lake situated?
A) Jammu and Kashmir B) Himachal Pradesh

C) Uttar Pradesh D) Guijarat

‘s i’ ARA & AT F ¥ v oy & g &2

A) I TF FEHR B) feaTaer uger
C) 3cal Uear D) eRId
Answer Key : A Your Response : A (Correct)

Question No. 32
Two numbers are in the ratio 3 : 5. Their LCM is 75. What is their HCF?
A) 15 B) 5

C) 4 D) 3

ar €€ 3 : 5 & I H §| 399 A.H.T (LCM) 75 §| 3919 A.E.T (HCF) dra Hifsrel

A) 15 B) 5

§cnddaza7 D) 3 Engineers Adda247
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Answer Key : B Your Response : B (Correct)

Question No. 33

How many squares are there in the given figure?

A B) 16
20

0 D) 11
25

& & Ry F A T B2

A B) 16
20

25C Addaz47 D) Engineers Adda247
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11

Answer Key : B Your Response : A (Wrong)

Question No. 34

Two right circular cones of height 16.4 cm and 17.2 cm respectively have base radius of 8.4 cm.
These two cones are melted and recast into a sphere. Find the diameter of the sphere.

A) 16.8 cm B) 8.4cm

C) 8.2cm D) 8.6 cm

HHRT: 16.4 A 3R 17.2 J#r S a1 & dagecy o0F, Fahr 3uR BAr 8.4 Qv g1 oo
arsit 23t B REerr Jrar § 3R wF A F T F grer SAar §1 S F A" AT RS

A) 16.8 @1 B) 8.4 T
C) 8.2 ¥ D) 8.6 Q&
Answer Key : A Your Response : Not Answered

Question No. 35

The mass number of deuterium is-

A) 3 B) 2
C) 1 D) 4
s i goaAe wEr fhaer 32
A) 3 B) 2
C) 1 D) 4
Answer Key : B Your Response : B (Correct)

Question No. 36

Which of the following is NOT a multi-seeded fruit?
§§C|3{-ggg¢3247 B) Litchi Engineers Adda247
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C) Apple D) Pomegranate

Fefaf@a # & Fla a1 ag-deh wa 78 2

A) qdrar B) el
C) &« D) 3R
Answer Key : B Your Response : B (Correct)

Question No. 37

Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table facing the center but
not necessarily in the same order. Each one of them wears different colours of shirts—blue,
green, red, black, yellow, white, purple and pink.

P sits third to the right of the one who wears pink, and only two people sit between the one who
wears pink and W. Those who wear yellow and green are the immediate neighbours. Neither P
nor W wears yellow or green. The one who wears yellow is not an immediate neighbour of the
one who wears pink. The one who wears blue sits second to the left of T. T is not an immediate
neighbour of W. The one who wears blue is an immediate neighbour of both those who wear
white and purple. The one who wears purple sits third to the right of Q. Q does not wear yellow.
R sits to the immediate right of the one who wears red. P does not wear red. U is not an
immediate neighbour of P. V is not an immediate neighbour of the one who wears blue.

The person who wears sits exactly between those who wear pink and white.
A) Yellow B) Red
C) Blue D) Green

ffaf@a SR #F & & ¢ 3R i e st wRe &1 3R &

M- P, Q, R, S, T, U, VIR W ts geaaR A & IRt 3R &g i 3K 75 =& 8B §
AfheT &Y F8F F 3 s FA F gl s9FH F UQAF IHIT-3109T, JF- i, &, AT, Hrer, de,
FTARFI AT T, TT A AC & Teoid & | P, AN AC T §U FAGTH Se AT I
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Wwﬂa%,mﬂaﬁ’r?ﬁqﬁ?wﬁﬁmw*aﬁmam%?la‘rmtﬂ@r
AR E T aE 9@ §, T g & Aheam aSlr §1 T ar P 3R & W dier Ir &Y T
aé e 1 R T B el B, a5 T aE U Akt & e o il ¥ v
el o Tgel § 9F T & 1§ IR g VI W doT §1 T, W T ereaer wehd @ ¥ S
el o Ugelr 8, a8 g AR doelr A€ Ugelsr arer A 1 fAdedd TSR 81 Sae Sl o
Tl T 98 Q F T 3 AW B W dor ¥ Q F G aE F7EF gl ¥ R, ol AE GgAA
el Safed & SIS 91T i o1 §1 P of T AE sigf Ugelr gl U, P Fr fAsheas gsidr &gt 81 V
el ¢ Ugaer arer FT fedd TSRl SET §

PaaafFaa __ aE ggelr 8, 98 T 3R abhe A ggaa arer SafFadl & S o #
o gl
A) drer B) oo
C) e D) &1
Answer Key : B Your Response : Not Answered

Question No. 38

Functional group —CHO is present in which of the following?
A) Ketone B) Aldehyde

C) Alcohol D) Carboxylic acid

FcHF g -CHO fawifaf@a &7 & fraet il g 87

A) et B) ufesgrss
C) Ucalgd D) wreffeafes 3Fd
Answer Key : B Your Response : Not Answered

Question No. 39

Which of these is NOT a bone in the human body?
A) Anvil B) Hammer

C) Stirrup D) Axe
SSC Adda247 Engineers Adda247
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farfaf@a & ¥ Fla A AT WX #F 9 N Jrel g3 78 82

A) tfeger B) ¥F
C) ey D) uad
Answer Key : D Your Response : Not Answered

Question No. 40

A homogeneous mixture of two or more substances is known as the-

A) Solution B) Fission

C) Colloids D) Suspension

& a1 3 uerdt & ve Fed AT @ gl ST gl

A) o= B) fa@ssI(Fission)

C) Flcss D) faelasT (Suspension)
Answer Key : A Your Response : A (Correct)

Question No. 41

The angle of elevation of a hot-air balloon climbing vertically changes from 30° at 10:00 AM to
60° at 10:02 AM as observed from a point 300 m away from the take-off point. What is the
upward speed of the balloon?

A) 3.4 m/s B) 2m/s

C) 2.18 m/s D) 29 m/s

33 g @ 300 AT Fr g ¥ AW I W Fed 2w 7 3R f 3H M @ F BT g F
JEER FH Iewidel HIOT FIcT: 10:00 i, 30° § FEeloht UIel: 10:02 For 60° & 1w &1 Fed feum
# AR FT =l AT AT

A) 3.4 #Hey/aes B) 2 #Hiey/Aa%hs
C) 2.18 Hey/@shs D) 2.9 Hiey/ahs
Answer Key : D Your Response : Not Answered

Question No. 42

SSC Adda247 Engineers Adda247
Breaking of silver bromide into silver and bromine is an example of .
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A) Combination reaction

C) Decomposition reaction

et siwrss @1 Aeat AR seler & geanr
A) TdrerT fRfeRar
C) 3uges fATHAT

Answer Key : C

B) Redox reaction

D) Neutralisation reaction

T T 3GIE0T Bl
B) 3vudigay fAfhRaT
D) 3erisienior FfRfshar

Your Response : C (Correct)

Question No. 43

0.04 x 0.0123 is equivalent to
A) 492 x 10

C) 4.92 x 10

0.04 x 0.0123, % FAJT Bl
A) 492 x 104
C) 4.92 x 104

Answer Key : C

B) 4.92 x 106

D) 492 x 10

B) 4.92 x 106

D) 492 x 105

Your Response : D (Wrong)

Question No. 44

Noise pollution is measured in-
A) Ohm

C) Joule

eafer yguoT ¥ AT ST B
A) 3HH
C) e

N

Answer Key : B

Question No. 45

B) Decibel

D) Ampere

B) sfaser
D) tfFawR

Your Response : B (Correct)

SSC Adda247

Engineers Adda247
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Which of these creatures do NOT have teeth?

A) Turtles B) Pigs
C) Dogs D) Horses
g ¥ fFE g & gid et i &2
A) FPT & B) IR &
C) T H D) €13 &
Answer Key : A Your Response : A (Correct)

Question No. 46

An opthalmologist is one who treats-

A) Skin B) Bones
C) Eyes D) Limbs
JrAeAaiione e 3TaR F T 82
A) cadr @ B) gsfsal &t
C) @i &r D) 331 &r
Answer Key : C Your Response : B (Wrong)

Question No. 47

One morning after sunrise, Kumar was standing in a ground facing a pole. The shadow of the
pole fell exactly to his right. Which direction was he facing?

A) South B) West

C) East D) Data inadequate

Yale & a1g U g, FAR U AT & v Gl i 3R Hg R @or anl A A SR 38§
8% gifel WE I3 71 IF fFw fewm v 3R Hy A go am

A) aferor B) uf¥a#
C) @ D) 2T e
Ssgléq’gfal%él}z A Your Response : A cdEngineers Addaz47
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Question No. 48

Arrange the following fractions in descending order.
5/6, 3/7, 8/9, 3/14

A) 5/6, 8/9, 3/7, 3/14 B) 8/9, 5/6, 3/7, 3/14

C) 3/7,8/9, 5/6, 3/14 D) 8/9, 3/14, 3/7, 5/6

Aafaf@a Bt & e FF 7 gafeaa el

5/6, 3/7, 8/9, 3/14

A) 5/6, 8/9, 3/7, 3/14 B) 8/9, 5/6, 3/7, 3/14
C) 3/7, 8/9, 5/6, 3/14 D) 8/9, 3/14, 3/7, 5/6
Answer Key : B Your Response : Not Answered

Question No. 49

What is the common name of gases and liquids?

A) Fluids B) Gel
C) Resin D) Chemicals
3t 3R gaEt @ W A R 87
A) &d B) el
C) T (f&=) D) &g
Answer Key : A Your Response : A (Correct)

Question No. 50

In which district of Jharkhand is Tagore Hill located?

A) Lohardaga B) Simdega
C) Gumla D) Ranchi
IR T SIRES F e R ¥ Rua &7

A3Coidar4 7 B) f@&sem Engineers Adda247
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C) I D) =Y

Answer Key : D Your Response : Not Answered

Question No. 51

Choose from the alternatives the figure that best completes the

pattern given below.

Q|0
)

A) B)

0 D)

>

)

few =17 Rwedt # & 3g a4, A A9 e v ST FF @ W=

gl

Q|0

A) B)

SSC /@'

N
N
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0 D)

E 0

Answer Key : C Your Response : C (Correct)

Question No. 52

What is 'Halitosis' commonly known as?
A) Head ache B) Blood Pressure

C) Bad breath D) Flu

sy #r 3mHAR W BFT e F ST S 82

A) fReg B) I&d a9
C) | &I gty D) e[
Answer Key : C Your Response : Not Answered

Question No. 53

Village Chimur is 20 km to the north of village Rewa. Village Rahate is 18 km to the east of
village Rewa. Village Angne is 12 km to the west of Chimur. If Sanjay starts from village Rahate
and goes to village Angne, in which direction is he from his starting point?

A) Northwest B) South

C) North D) Southeast

o g, oot a1 F ek # 20 B fr gfr W B AT g, A far F qF 7 18 el Hr
gl W &1 7 3, g & aRaw F 12 el & gt | &1 IRk d97 7 Weer & o 4w
X AA 3T qh ST §, o 96 9= o3l foig F o foom 7 g2

A) 3ca} qfegH B) g&fgror
C) 3cR D) cfaror qd
Answer Key : A Your Response : A (Correct)

Question No. 54 )
SSC Adda247 Engineers Adda247
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Himawari-9 is a Japanese satellite.

A) Weather B) Communication
C) Navigation D) Ground
fRAEd-9 v e 399% &
A) #tEH B) #R
C) Afaarer= D) i+
Answer Key : A Your Response : Not Answered

Question No. 55

Which of the following does NOT belong to the plant kihgdom?
A) Fungus B) Bush

C) Shrub D) Tree

=fafa # @ Fi9 91 9y 9 g A FafT 8 &7

A) T B) ss-sT@ms
C) st D) 93
Answer Key : A Your Response : A (Correct)

Question No. 56

Which of the following is the process of splitting up of the heavy nucleus of a radioactive atom
into smaller nuclei when bombarded with low energy neutrons?

A) Nuclear destruction B) Nuclear fusion

C) Nuclear generation D) Nuclear fission

et & F i @ T Fo o Jgial F TAar T WA ] & il aiffes w7 e
Aifeept # RsnferaT wer v afrar &7

A) FfFET s B) aAfahT doraet
C) f@hT 3curest D) aiffhr a@sa
Ssgléq’gfal%él}z D Your Response : D cdeRgineers Addaz47
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Question No. 57

Which of the following Articles deals with 'Prohibition of traffic in human beings and forced
labour'?

A) Article 29 B) Article 27

C) Article 30 D) Article 23

frafaf@a ¥ & Fi a1 Iqede AT F GAOR T qeresH & gfave & et 87

A) e 29 B) 3o 27
C) 3=t 30 D) 3]=de 23
Answer Key : D Your Response : Not Answered

Question No. 58

The sum of the atomic masses of all the atoms in a molecule of the substance is-
A) Formula mass B) Mole

C) Atomic mass D) Molecular mass

9er & Th U] H Al N AR & WHA] SeIAG & AT T FAT Fgl S ¢?

A) T GegHTE B) #rel
C) WA ZeIHAT D) 37fUgeh gegATT
Answer Key : D Your Response : D (Correct)

Question No. 59

What should be the minimum age to get the Rajya Sabha membership?
A) 25 years B) 35 years

C) 18 years D) 30 years

TSIHAT T FEHICT I & AT FYAqH I AT gelr afge?
A) 25 ¥ B) 35 a¥

%C1,§da§a247 D) 30 a% Engineers Adda247
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Answer Key : D Your Response : B (Wrong)

Question No. 60

Which of the following banks became the third largest Bank in India in April 20197
A) HDFC Bank B) Axis Bank

C) Bank of Baroda D) SBI Bank

RAfaf@d F @ i a1 8 e 2019 F ARG FT IRRT G 997 dF a7 I=AT?

A) HDFC &% B) UfFad d&
C) d% 3% ssler D) SBI &=
Answer Key : C Your Response : Not Answered

Question No. 61

Which of the following options will best complete the relationship given below?

19(413)22
11(431)32
42(?77)12
A) 541 B) 514
C) 145 D) 154

ffaf@a & @ e a1 RAwed A faw 7w deer S Fafcawm v @ qor Hem?

19(413)22
11(431)32

42(??7)12
%§Cﬁqlda247 B) 514 Engineers Adda247
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C) 145 D) 154

Answer Key : A Your Response : Not Answered

Question No. 62

Who is India's first woman grandmaster in chess?
A) Saheli Dhar B) Bhagyashree Thipsay

C) R. Khadilkar D) S. Vijayalakshmi

IS & T H ARA Fr ggelr Afgenr Hzarex Fia &2

A) Hegell T B) #megsY ey
C) R. T@ifgaaw D) S. AsrTergsT
Answer Key : D Your Response : Not Answered

Question No. 63

The population of a city has been increasing at 5% every year. The present population is
185220. What was its population 3 years back?

A) 160000 B) 180500

C) 180000 D) 178000

TS A AT SAaEr Ufa a¥ 5% #r e & 9 W g1 IaA SaEar 185220 g1 3 a¥ ugar
SHHT FTHEAT fohder 4?7

A) 160000 B) 180500
C) 180000 D) 178000
Answer Key : A Your Response : Not Answered

Question No. 64

P alone can do a job in 18 days. P and Q working together can do it in 15 days. They started to
work together. After 10 days Q left, and P alone has to complete the job. In how many more
days can P complete the job?

A) 8 days B) 5 days

SSC Adda247 Engineers Adda247
C) 7 days D) 6 days
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P 3m%hel T 1 18 Rt 7 U & FHham g1 P AN Q v T FF = §C W 15 et #
QT F hed 81 3700 U W FE F60 E fFar 10 &t F a5 Q o w7 85 w7, 3k P
F 3P 3 FE H G FE G P F AT FE QU A H e e e@em?

A) 8 feo B) 5 &=t
C) 7 fe= D) 6 fea
Answer Key : D Your Response : D (Correct)

Question No. 65

Find the ODD one out from the given options.

A) 8:25 B) 15:46
C) 12:39 D) 9:28
R e Reost 3 ¥ 3w P G|
A) 8 :25 B) 15 : 46
C) 12 : 39 D) 9: 28
Answer Key : C Your Response : C (Correct)

Question No. 66

Read the following information carefully and answer the question given below.

Five friends Arun, Bala, Cheenu, Dinesh and Elango are sitting on a bench facing north. Arun is
sitting next to Bala. Dinesh is sitting next to Cheenu. Dinesh is not sitting with Elango. Elango is
on the left end of the bench. Cheenu is on the second position from the right. Arun sits to the
right of Bala.

What is the position of Dinesh?
A) Extreme right B) Third from right

C) Extreme left D) Second from left

fArfaf@a STt @ eareT & 93 3R D e 1w weet &7 3w &)
SSC Adda247 Engineers Adda247
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9T SR 3RPUT, arel, Hie, feEer R goR IeaR A IR HE FF UH §F W S5 § 30T, arer
% W H ST g e, o] & sarer 7 a1 g1 &oier, ool & Ay @t ST §1 Telal, S & 9MC
faY oX o1 B1 e, a¢ & qEY TG R AT | 3107, &l & g AW Fa7 B

fearer =gt ot 37

A) &g AR Sarel H B) & 3R ¥ ey TUH W

C) a8 3R Tl H D) 91§ 3R & gl ¥ W
Answer Key : A Your Response : A (Correct)

Question No. 67

Which Indian cricket ground hosted the first ever Test match in India?
A) Eden Gardens B) Feroz Shah Kotla

C) Bombay Gymkhana D) Chepauk Stadium

AR H Yo ¥ AT 1 IS P ARNT fhehe AT 9 fRar I/m a1?

A) s34 IMSH B) RIS Mg shicar
C) dire foF@mET D) duieh T3
Answer Key : C Your Response : Not Answered

Question No. 68

If '+' means '+, '-' means '+, '+' means 'xX' and 'x' means '-',then 32 +4-8x4 +3 =7

A) 5 B) 6
C) 7 D) 4
e '+ HT AdeT '+ §, - F OAdST '+ §, '+ FH AJeT X § 3 X F O AdeT W §, o 32 + 4
-8x4+3=7
&S B) 6 :

CAdda247 Engineers Adda247
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C) 7 D) 4

Answer Key : D Your Response : D (Correct)

Question No. 69

With which sport is the term 'silly point' associated?
A) Cricket B) Hockey

C) Football D) Badminton

el 95T Ueg TR A ¥ Hafea &7

A) e B) @fehr
C) Pedle D) dsfdceT
Answer Key : A Your Response : Not Answered

Question No. 70

A gain of 12% is got by selling an article for Rs.3360. What should be the selling price, if the
profit aimed is only 8%?

A) Rs.3020 B) Rs.3240

C) Rs.3040 D) Rs.3200

Rl awg #r ©.3360 F S W 12% F oS WST @ar ¢ IR FaT 8% Fr awer wea fwar
ST &Y, o fasra Aew frae ger @ifRe?

A) %.3020 B) ¥.3240
C) %.3040 D) %.3200
Answer Key : B Your Response : B (Correct)

Question No. 71

Buses come out of a bus terminus in intervals of 10 minutes at 20 km/h. A man coming from
opposite direction towards the terminus meets the buses at intervals of 8 minutes. What is his
speed?

A) 6 km/h B) 5km/h

SSC Adda247 Engineers Adda247
C) 3.75km/h D) 4 km/h
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s 10 fAde & iauer W 20 fredi/Eer A a7 ¥ §9 <ffa9 § Awadr &1 RJada fer &
e fr 3R 3= arer v eHr 8 fRdAT ¥ RTEl W I8 A UR FGr g1 IWH O AT
NI

A) 6 fRal/Eer B) 5 ferail/ger
C) 3.75 farsl/aer D) 4 fra/aer
Answer Key : B Your Response : C (Wrong)

Question No. 72

A shopkeeper gives a discount of 10% once in 4 months. If a man purchases an article in this
scheme for Rs.25515 in December, then what was the initial price in January?

A) Rs.36000 B) Rs.40000

C) Rs.35000 D) Rs.45000

TF GHEGR & 4 #A 7 T aR 10% #r @ &am ¢ IS 1§ afFd 30 A & dod
aR] B AT # %.25515 F @ledr §, o Faall & 37 a] F IRNAF Jed T 917

A) %.36000 B) %.40000
C) %.35000 D) %.45000
Answer Key : C Your Response : A (Wrong)

Question No. 73

The LCM of two numbers which are in the ratio 2 : 3 is 48. What is their sum?
A) 64 B) 32

C) 40 D) 28

2 : 3 & I drell a7 W& FT 7.9 (LCM) 48 &1 37T AT AT AT

A) 64 B) 32
C) 40 D) 28
Answer Key : C Your Response : C (Correct)

SSC Adda247 Question No. 74 Engineers Adda247
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Find the group of wrong alphabets in the following series.

M,C,P,F,T,G,Y
A) P B) Y

C) C D) G

fArfaf@a ol 3 3R & ToraT THg AT F

MCPFTGY

A) P B) Y
C) C D) G
Answer Key : D Your Response : D (Correct)

Question No. 75

A number of two-digits has 3 for its unit's digit, and the sum of the digits is 1/7 of the number
itself. Find the number.

A) 73 B) 63

C) 53 D) 43

TS a-3iF I T&AT & 3HE & T W 3 § AR g0F 3t o1 Q91 39 d&ar &1 1/7 g1 @&
AT P

A) 73 B) 63
C) &3 D) 43
Answer Key : B Your Response : B (Correct)

Question No. 76

To obtain an enlarged real inverted image beyond 2F, after refraction by convex lens, where
§§gumq@g€cht be placed? Engineers Adda247
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A) Atinfinity B) Between F4 and 2F

C) Between focus F4 and optic centre O D) At2F4

3ol o EaRT 3Yacle & &1 2F, ¥ W UF Iaftd arafas 3der yfafda grog s & faw,
a] el @M S =Ifge?

A) 3dd W B) Fq 3R 2Fy & &iw
C) wihg Fq 3R 3iftes dex O & &g D) 2F4 W
Answer Key : B Your Response : D (Wrong)

Question No. 77

A train 120 m long crosses a platform of length 100 m in 10 seconds. What is its speed?
A) 72 km/h B) 79.2 km/h

C) 100 km/h D) 80 km/h

120 #FHex ol T IS 10 Vs & 100 HeX o T TolehiH H IR FAT g1 SHDr °rel AT
o)

A) 72 TRa/Eer B) 79.2 frai/ger
C) 100 frel/ger D) 80 ferai/aer
Answer Key : B Your Response : B (Correct)

Question No. 78

If in a certain code, 'bir le nac' means 'green and tasty', 'pic nac hor' means 'tomato is green'
and 'coc bir hor' means 'food is tasty', which of the following means 'tomato is tasty' in that
code?

A) pic le coc B) hor bir pic

C) birle hor D) pic hor nac

Ife ARET F© 19T #, 'bir le nac' F Adeld 'green and tasty' &, 'pic nac hor' Fr Hced
'tomato is green' & 31 'coc bir hor' @ Hde™ 'food is tasty' §, 39 Fesmwr # fAr=fafad #

H T 'tomato_is tasty' T HAdeS grem?
SSC Adda2 I 4 Engineers Adda247
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A) pic le coc B) hor bir pic
C) bir le hor D) pic hor nac

Answer Key : B Your Response : D (Wrong)

Question No. 79

Find the missing number in the following series.

4,7,12,(...), 28, 39

A) 19 B) 14
C) 24 D) 16
faeafaf@a Ao & gea dear aa ffaw)

4, 7, 12, (.), 28, 39

A) 19 B) 14
C) 24 D) 16
Answer Key : A Your Response : A (Correct)

Question No. 80

Which of the following kings was the father of Sanghamitra and Mahendravarman?
A) Krishnadeva Raya B) Bimbisara

C) Kanishka D) Ashoka

famfaf@a 1 & #la @ v, Fufdar 3R Ageasts & Rar a7

A) FSURGET B) fafFsar
C) Hfassh D) 372
Answer Key : D Your Response : Not Answered

Question No. 81

If Rs.64 amounts to Rs.83.20 in 2 years, what will Rs.86 amount to in 4 years at the same rate
%%pd%q@%ﬂll Interest per annum? Engineers Adda247
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A) Rs.124.70 B) Rs.127.40

C) Rs.114.8 D) Rs.137.60

gfe 5. 64 fr AR 2 asf 7 Tga . 83.20 & A &, aF JUROT AT Fr 38 9fad T W .
86 Fr TR 4 st 7 fhasr & smwen?

A) 2.124.70 B) ¥.127.40
C) %1148 D) %.137.60
Answer Key : D Your Response : D (Correct)

Question No. 82

Complete the series.

ZZ, TX, NU, HP, (...)

A) AJ B) PR
C) Bl D) MC
Aofr & qut Y1

ZZ, TX, NU, HP, (.)

A) AJ B) PR
C) BI D) MC
Answer Key : C Your Response : C (Correct)

Question No. 83

Find the missing number in the following series.

2,7, 16, (...), 46, 67, 92
A) 38 B) 36

C) 32 D) 29

mﬁ’? A g e e Al Engineers Adda247
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2, 7, 16, (.), 46, 67, 92

A) 38 B) 36
C) 32 D) 29
Answer Key : D Your Response : D (Correct)

Question No. 84

What comes in the place of *?

1£+1l-ll:*+1L
4 6 8 12
A) B)
5/12 712
0] D)
5/24 T/24

* & T 9 &7 g

11+11-11:*+1L
4 6 8 12
A) B)
5/12 7/12
SSC Adda247
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0 D)

Answer Key : C Your Response : C (Correct)

Question No. 85

Who among the following has become the first ever captain to win 100 matches in IPL history?
A) Rohit Sharma B) David Warner

C) Virat Kohli D) M.S. Dhoni

ffaf@a & ¥ Faa 'Isdive & Qg & 100 #9 Siaxt arer 9gar woded @t &1 Iika
eifder fFar?

A) AfgT et B) 3fdg amR
C) fae igelr D) M. S. g
Answer Key : D Your Response : Not Answered

Question No. 86

A group of similar organisms which are genetically distinct and reproductively isolated, is called
a/an-

A) Class B) Order

C) Species D) Family

AT Sl FT UH G, S IWERE T F AR vd yodacns ®9 & el @ § 3@
AT FET AT 87

A) T B) &H
C) wenfa D) 9Rar
Answer Key : C Your Response : Not Answered

Question No. 87 )
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If 2720 + 2710 = 3K then find the value of K.
A) 30 B) 27

C) 15 D) 12

gfe 2720 + 2710 = K & A K &1 AW 7T ffST)

A) 30 B) 27
C) 15 D) 12
Answer Key : A Your Response : A (Correct)

Question No. 88

42 horses consume 270 kg of corn in 27 days. If there are 21 horses only, then how many days
will 300 kg of corn last?

A) 60 B) 72

C) 45 D) 48

42 =3, 27 & 7 270 e #Aeg @A 1 I Fae 21 @3 §, o 300 BFew FHS haer Rat
dF gaafi?

A) 60 B) 72
C) 45 D) 48
Answer Key : A Your Response : A (Correct)

Question No. 89

With which type of acid is the atmosphere of Venus made up of?
A) Hydrochloric acid B) Sulphuric acid

C) Oxalic acid D) Nitric acid

Yh FT TYASA fhE 3 § o g7

A) grEgiFelIRe 3Fa B) HeWgRe 3Fdl
C) 3iFafars 3wa D) asfes 3rFar
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Question No. 90

Find the ODD one out from the given options.

A) 80 B) 49
C) 24 D) 15
R T et 3 ¥ 3T T
A) 80 B) 49
C) 24 D) 15
Answer Key : B Your Response : B (Correct)

Question No. 91

If the ratio of ages of A and B is 5 : 6 and sum of their ages is 55, what is the age of A?
A) 15 B) 25

C) 30 D) 18

IfE A AR B #ir 3 F7 9T 5: 6 ¥ AR 3eThr IR F AT 55 §, A A A I3y AT RS

A) 15 B) 25
C) 30 D) 18
Answer Key : B Your Response : B (Correct)

Question No. 92

Which of these blood components carries oxygen?
A) RBC B) Platelet

C) Plasma D) WBC

T & o180 W Pl TT "eh sl HT IRagT HIT 872
A) RBC B) Telcel
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Answer Key : A Your Response : A (Correct)

Question No. 93

Malachite is an ore of-

A) Manganese B) Magnesium
C) Mercury D) Copper
Aoreige, _ F TE 3T g
A) Haels B) #HeAIfRIgH
C) URT D) drer
Answer Key : D Your Response : B (Wrong)

Question No. 94

Which of the following is TRUE about Mass and Weight?
A) Mass is a vector and weight is a scalar B) Both are vector quantities

C) Both are scalar quantities D) Mass is a scalar and weight is a vector

oA 3R AR & IR F Pefaf@d F ¥ = afr 27
A) AT THh e T § 3R 7R wa 3ifeer B) =i afger afr g

SRS
C) et rfeer afrar g1 D) geudAe Ush 3feer Ufyr § 3R sk v afewr
Tfer &
Answer Key : D Your Response : D (Correct)

Question No. 95

National Income in India is measured in terms of-

A) Net National Product at Factor Cost B) Gross National Product
C) Net National Product at Market Price D) Gross Domestic Product
AR & U 31T H FaF 9&r F AT 1T g7
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C) 9IeIR Hed W g IS 3cUTe D) Hehol EXe] 3cUIG

Answer Key : A Your Response : B (Wrong)

Question No. 96

A person borrows Rs.5000 for 2 years at 4% per annum Simple Interest. He immediately lends
it to another person at 6.25% per annum for 2 years. Find his gain in the transaction per year.

A) Rs.150 B) Rs.167.50

C) Rs.112.50 D) Rs.125

U AP 4% TTUROT SATST FI eT A 2 9 & fAT ¥ 5000 3UR or &1 98 39 2 a¥ & Qv
6.25% Fr s e W 37 AfFadt & & Sar g1 i a¥ AT 7 38ar oy aa ffSw|

A) %.150 B) %.167.50
C) 2.112.50 D) ¥.125
Answer Key : C Your Response : C (Correct)

Question No. 97

When the speed of any object exceeds the speed of sound, it is said to be travelling at which

speed?
A) Subsonic B) Supersonic
C) Hyposonic D) Infrasonic

o Rl g% & 91w, eafar fr arer § H#OF & Sehr 8, o sERr Grer Y AT FHgr ST §?

A) TS B) gwdAlfais
C) grsurafas D) swraifas
Answer Key : B Your Response : B (Correct)

Question No. 98

Which of the following dances is NOT a classical dance of India?
A) Kuchipudi B) Manipuri

£3CAddar47 D) Odissi Engineers Adda247
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fArafaf@a & & @l 91 7 9Rd F1 AT FoI T E?

A) FfeaEr B) #Hforgd
C) ek D) 3nfsdr
Answer Key : C Your Response : C (Correct)

Question No. 99

On a certain sum of money, the Compound Interest for 2 years is Rs.309 and the Simple
Interest is Rs.300. Find the rate of interest per annum.

A) 7% B) 9%

C) 6% D) 8%

frelr faRea ool W, 2 af # wRafe sarer €.309 AR WUROT sATS %.300 BT ¥ AIfEE
et &T A H

A) 7% B) 9%
C) 6% D) 8%
Answer Key : C Your Response : C (Correct)

Question No. 100

Esters have smell.
A) Rotten B) Pungent
C) Chemical D) Fruity
TERX A e @ R
A) Hsa Sielr B) et
C) i D) el St&T
Answer Key : D Your Response : D (Correct)
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